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Qamararayid. SiEstLSeld GampuimLden dmns gamarenfiiumerflLLb

o L anqwnsd Qsflelsse, .

(2) Beob dezm smUy ewwlmen L HCw Gr@gmggb@m
< ECETy HausnEh Lwau(ss Caugm@n. ULBGH amrasnE

Quenéléd LweTUHSSeLb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

GOy : uGH-T (2f-graurefud), G-I (219A-edeoidwen) sailssel allenL_gsmafled

Note :

@y :

Note :

ellen_wefl&seyLb.

Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer books.
uEd - I (2-ulfl-greurefled) / PART - I (BIO-BOTANY)
(wHuQuerrser : 35) / (Marks : 35)

\9fey - 1 / SECTION - 1

(i) Smengg elamss@psEn eflenwefldsa]b.

(ii) Q@arRésuu’(Berar wrHH el saild Wsad ghymw aleaamws

Camos0s56 GIELHLe elenulamand Gsrsg erpseywb.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.

8x1=8

[ Hmiiys / Turn over
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1.

Clad seuailen Siewinda umin A wrhiowd smeded Caeran® oG aEs.
Ursmas@h, @ enanp SIHEHNSmHg wHUPSHHE @Lib CuwTbg Qedas
SpssTEud mppseid og) gflwreng ?

(1) SLAGsdr @ifigns wmen @hen GLbOuLTddaar. Lrshsd O,
() LSBT Lomb Yrshsdr sikeh @ieb GLbuLTaddow.

(Q) urstiser @miEL @riEh ALbAUUTSaa. SUGREE Sihe.

(FF) SILAG wpmib Yrshser Sikigh @kien @LbOuuiddmar.

Keeping in view the fluid mosaic model for the structure of cell membrane, which
one of the following statements is correct with respect to the movement of lipids

and proteins from one lipid monolayer to the other ?
(a) While lipids can rarely flip-flop, proteins cannot.
(b) Neither lipid nor proteins can flip-flop.

(c) While proteins can flip-flop, lipids cannot.

(d) Both lipid and proteins can flip-flop.

weananile) sremiu@b eplCrl eaflba e eplrgeams wrppliu@n Hspe)

eraru(pLD.
(<=1) epLlyggen HEaLD (<) @iCoreflwreirga
(8) eopLlCri gemowinrga () oL GriLmged

Nitrates in the soil are converted back into atmospheric nitrogen by a process

called
(a) Denitrification (b) Ammonification

(c) Nitrate assimilation (d) Nitrification

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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gpisHurdieflugHeas s s,
(=) wRAUCuUrafion () SIFLGLTLITEL T
(@) QusgCarrumdiefuid () erireflafum
Identify the Archaebacterium.
(a) Treponema (b) Acetobacter
(c) Methanobacterium (d) Erwinia

S STUrSHNEG J@asss salbhsEmb aphsiul® Mn Gedlay LB
Sifswrs QnmBsTe gHuL Gopur® wrg ?

(1) Ca 2L Qamer Spevan L {Hd AHsNE@LD.

(=) Fe, Mg o L Qarer gpeven (&G0, pame Ca gedlr.
(@) Fe, Mg wpmid Ca o ' Qamer flmenansd SHEGLD.

(/) Fe, Mg wpmtd Ca 2L Qarer dpmar siglafl&@L.

If a plant is provided with all mineral nutrients but, Mn concentration is increased,
what will be the deficiency ?

(a) Only increases the uptake of Ca.
(b) Mn prevents the uptake of Fe, Mg but not Ca.
(c) Prevents the uptake of Fe, Mg and Ca.

(d) Mn increases the uptake of Fe, Mg and Ca.

[ SmLiys / Turn over
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NG yuflevid e sy Hleneud Geor ides) Slble @mwuﬁ]@mn SrenTIUL_LTeL

DDA e TR DD PSEHILINH .

(1) PlursalCuireni (2p,) umedCluienL_H

(@) <WwCuUrQLAs () epL_GQuilien_(p)

Amino acid is both an acid and a base and hence it is called as .
(@) Nucleotide (b) Polypeptide

(c) Amphoteric (d) Dipeptide

@LLLM ks Qs uELGer Curg), Qs alpndlde G, flavaudie aueTLIe DL
LBSsLLHD Heve
(=) M Hleve (=) S Hlevew (@) G, Hlenew (FF) Gy Bleve

If mitotic division is restricted in G, phase of the cell cycle then the condition is

known as

(a) M phase (b) S phase (c) Gy phase (d) G, phase

spssam aursdluiisella sfluraaipery CsmBOsHSE THsIs.
QUEhS sTedI aure@aor Cabiawib.

(i) @epeurar eurevGor ClFuwuUTh CaraTLg).

(i) SFsuugurer enswssmmsmer Carhmelsdlamern.

(i) <isenp 2-6Cleuell GararL. emso&ELTUS®mET 2 (HeUTsEGHDs.
(1) () opmio (i) LB (<) (i) G

(@) (iii) w1 (/) (i) OmID (iii) wl (HLd
Consider the following statements and select the correct option.
In spring season Vascular Cambium

(i) is less active.

(ii) produces a large number of xylary elements.

(iii) forms vessels with wide cavities.

(a) (i) and (ii) only (b) Only (i)

(c) Only (iii) (d) (1) and (ili) only
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Sipssan uLgfear o pHEHIHHE aflwuner eflenenug CairpllsB)ssab,
2

f | O\ A

}’l: ',/':’E"'\V\ \ » B

74\ B —
| — »

{ 'l, ) ’\ C

)

L)

@) A Buwppd C sen® peflfler ahlavGLrmgger Q& METEnd HGLD.

{ii) A -Quidwor, sfismer 2 (HeursEslang|.

(ili) B -upefleow 2 (HarsEEGSHDS!.

(iv) C -upsGsreara 2 (HeuTEEEDS).

(=) (i) wHmD (i) O (<) (i) wHmb (i) wL_(HLd
(@) (i) wpmd (iv) LB () (i) wHmo {ii) LG

Refer to the given figure and select the correct statement.

(i) A, B and C are histogen theory of shoot apex.

(ii) A gives rise to medullary rays.

(iii) B gives rise to cortex.

(iv) C gives rise to epidermis.

(a) (i) and (iii) only (b) (i) and (ii) only
(c) (iii) and (iv) only (d) (i) and (iii) only

[ Si;liys / Turn over
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\9fley - 2 / SECTION - 2
GO0y : semauGugnib Ben(E) eflaninéan@ns@ oflelwallbsa|.

Note :  Answer any four questions,

4x2=8

9. elfluren eremmred eremen ?

What is Virion ?

10. samgen wsdflow Lalseia gGaaib @Qraimigemar 6r(pgis.

List out any two primary functions of stem.

11. dmps eumevgai spenpuler LD QuIBg, Urshsmars GHUGs.

Draw a neat labelled diagram of open vascular bundle.

12. Qear’_Grrwfen SiemwellLsdler o liuemula GCrrCurCerller euansaar

wimened ?

Y _ n . ., . 3
Name the types of chromosomes classified based on the position of centromere.

13. BAwed dpavar ELEUUMSFHD Famaar Wmeney ?

What are the parameters which control water potential ?

14. mafl désb erammme erener ?

What is Apical dominance ?

9fley - 3 / SECTION - 3
@MlLY : eremeuGenid eemy eflanrésEnéE el walldseb. elam eream 19 -5
SL_Lmwwng e waefl&sa]b. 3x3=9

Note : Answer any three questions. Question No. 19 is Compulsory.
15. y@pens Geufleaflen édluggieusans ar(pss.

Write the importance of Mycorrhizae.

16. greurs GgrElidern epeny cuensLILTL () WpamEET Wirepau ?

What are the three types of Taxonomic classification ?

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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17, ypdGare HasQam@inden Lalamaild rGpeID ppemmPlanet aT(1pg)s,

List out any three functions of Epidermal Tissue System,

18. sTHpESLOLEGD @UTSSLLG@WD QL Cuwrar Ceupur@aer wrane ?

Write the differences between Sap wood and Heart wood.

19. @swrsdun wershaw uLggILe adlenéEs.

Describe Cyathium inflorescence with neat diagram.

fley - 4 / SECTION - 4
GOILY : Senenss clamésEhaEn efanl &(1H. 2x5=10

Note : Answer all the questions.

20. (=) s GLmengafler eunpelwed ellenareyser wreneu ?
TV
(=) dlemersarenadlavedlen Ligblenaaamer er(pgs.

(a) Write the Physiological effects of Cytokinins.
OR

(b) Write the schematic representation of Glycolysis.

21. () greupéblsadien m@TseLLIML LLD auayhg UTahsmen eflaéseayb.
AL
() urdlsailer vsrnsamilaslar eugaud gafldgieud aumnipss aar smaHomur ?
2 angl eflenLenw Hlwmuiu®sgs.
(a) Draw the ultrastructure of a plant cell and explain its parts.

OR

(b) Do you think shape of chloroplast is unique for algae. Justify your answer.

A [ Hpliys / Turn over

Kindly send me your answer keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net www.CBSEtips.in

6027 | 8
LGS - 11 (e_ulf-eReorisdlusd) / PART - II (BIO-ZOOLOGY)

(nHLQuermaen : 35) / (Marks : 35)

Wfley - 1 / SECTION - 1

GOLY : () Seoagg) elemmas@nd@En el wallésa|. 8x1=8

(i) Qen@éstiuc Parer wrppy edmLseld Weab ehLenw ela
CoipOsaas @M L o lameanbd Caigg TWsaD:

Note: (i) Answer all the questions.

Len

(ii) Choosec the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
1. srglaieter qiugd Siwss sioesmars Qswdblae Wdampssons rHmIEnS ?
(=) St Ll uesan (1) Qealiuenn Feuay
(8) oraulLs Gyasd (F) &rilenl 2-miiy
Which structure in the ear converts pressure waves to action potentials ?
(a) Oval window (b) Tympanic membrane

(c) Semicircular canal (d) Organ of Corti
2. Quipwstad Hs ads aamaflsmsla Hpfansmes Qarar. e ulfser

(1) <erAGwmevELITbEET (<) Yslser

(@) Yepensser (rF) UpeneuseT

Which of the following have the highest number of species in nature ?
(a) Angiosperms (b) Insects

(c) Fungi (d) Birds

3. agrrsadian 2HusHEG CamaiuBh saflob
(1) smedlwid (=) Gamgwid (@) ACwmgen () GQurlLrélub
is required for the formation of thyroxine.

(a) Calcium (b) Sodium (c) Iodine (d) Potassium

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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4.  peasar W AT,

(<=t) pevgCurens {aer () pavas Qsdaen

(@) dhdGures Haer () W &Caraa Haar
Muscles are formed by ;

(a) Osteocytes (b) Myocytes

(c) Lymphocytes (d) Leucocytes

5. sasgr e erSSlwgden wWpasHwl uenfl
(1) urgismy (<) &Ly
(@) =-flgrsse (7) (<=p) wpmid (G)
The main function of cuboidal epithelium is :
(a) Protection (b) Secretion

(c) Absorption (d) Both (b) and (c)

6. Qaruly Qsfwreagdler s Ui :
(1) oréredsa afCu o flrflgse (<) urabrge
(@) 2igCurev Hassaild Caliy  (7) Aprd Caweour®

First step in digestion of fat is :
(a) Absorption by lacteals (b) Emulsification

(c) Storage in adipose tissue (d) Enzyme action

A [ pliys / Turn over
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7.  ombiGur wrfll e weRtLpaller Aprigls ugwrer fHenan@Ldeutd sramiu@eug! :
(<) 12 pped 13 eueny o_atar sam_tisaild
(<) 13 Wsd 14 cuany o_drar s iisefld
(@) 14 Wz 16 cueny o e sam_riisefd
(FF) 14 s 17 cueny o érer samLriisafld

The clitellum, a distinct part in the body of earthworm Lampito Mauritii, i found

in :

(a) Segments 12 - 13
(b) Segments 13 - 14
(c) Segments 14 - 16

(d) Segments 14 - 17

8. Qawsdle ‘Lir gl gpu@pdpg.
(<=1) Sieré sHAT cureeysar apHieusme
(<) < NéECar - Qeuan_A&GamT eumeaysar ep{Heugme

(@) 2AsECar Qaudrn fégemt eurdaysd SmriLgre

(FF) \enpé FHAT UTa|EAET Snliugme
Dub sound of heart is caused by :
(a) closure of semi-lunar valves.
(b) closure of atrio-ventricular valves.
(c) opening of atrio-ventricular valves.

(d) opening of semi-lunar valves.

Kindly send me your answer keys to our email id - padasalai.net@gmail.com
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Wfley - 2 / SECTION - 2

@Oy sTeneuCuigy)ib meng canmdsend@ eleniwefldaan. 4x2=8

Note:  Answer any four questions.

9. deqy e Lp@iflenw, eanajiunag o Lp@ylujea @uihs.

Compare Schizococlom with enterocoelom.,
10. saumer Qusssdan uGHUCUTHLSET Wread ?

What are the components of blood of frog ?

1. argdar safll usmysmen GT(LPS5.

Write the peculiar characters of Duck.

12. épdlend Gamlum ke srieey Lmiefafldr ki@ wrg ?

What is the role of Charles Darwin in relation to concept of species ?

13. Qrés Qadearuanésalen cumssmars GHILIGE.
List out the different types of WBC.

14. 21 & swofloal Guansd UDH T(WSIS.

Comment on Homeostasis.

9fley - 3 / SECTION - 3
GOy : eremauCuend ey efammésEné@ el wallésayb. el eram 19 -5
sL_Lmuwrs e weal&sa)b. 3x3=9

Note : Answer any three questions. Question No. 19 is Compulsory.

15. mympé gwést e olw elondlar uamsamer rOSHSSTLHLE ellaTdEs.
Describe the characteristic features of bi-radially symmetrical animal with

example.

16. goueneruilan Qummarmgmy w&flusgausmss GOILGNGS.

Write the economic importance of Frog.

A [ Si;pliys / Turn over
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17. walls Apdrasdear farQal (s Carppsensll LULD aiahg UTEHE®ETS
GN&ESQLD.
Draw and label the L.S. of Human Kidney.

18. (i) <dls @afife wiHGw, pibwrd Hoksmer ApliLrs o iy dpsgl. e ?
(i)  sewanfian crlLEHule gafl o amrieladr deLwing ?
()  We can perceive colours only in bright light. Why ?
(i) Which region of the eye is devoid of Photoreceptors ?

19. @gwev srulurerg prenfldors srldurseh wHmD Her§i o mnlLrse|b
Qewerpndns. QEEmPHDE srewtd Hms.

“Thymus gland act as Endocrine gland as well as Lymphoid organ”. Give reasons.

Yfley - 4 / SECTION - 4
GOILY : Jemensg amésEnéEn elal welssayib. 2x5=10
Note : Answer all the questions.
20. (=) 985 Benré sriug wl Ean sdadyelar wHp Lafsmeryb elarsEs.
TN
(=) sropoL Qaudumsssdad Cuplardaeariu@n uoCup Qgmfd
Bl ukisemer upl efleurdlaseyw.
(a) Write the functions of liver apart from bile secretion.

OR
(b) Discuss the various techniques adopted in cattle breeding.

21. (=) waflgafler Feursd e Gumd Wapenw efleuflGEayb.
3|66V

(@) paGpranmLy dabgsala wpeam SplumLl uarysmer 5G5S
LLggILen efland(gs.

(a) Explain the mechanism of breathing in Human.

OR

(b) Briefly explain the three fundamental distinct features of chordates with a

neat labelled diagram.

-00o0-

Kindly send me your answer keys to our email id - padasalai.net@gmail.com



